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B.E./B.Tech. DEGREE EXAMINATIONS,
NOVEMBER/DECEMBER 2010.
FIFTH SEMESTER
ELECTRONICS AND COMMUN] CATION ENGINEERING
EC51— DIGITAL COMMUNICATION
(REGULATIONS 2008)
Time : Three hours Maximum : 100 marks
Answer ALL questions.
PART A — (10 x 2 = 20 marks)

1. What are the advantages of pulse modulation system?

2. Define an AWGN channel in band pass data transmission
system.

3. Differentiate between natural and flat top sampling.
4, Enlist the features of temporal waveform encoding.
5. Mention the desirable characteristics of line code.

6. What is the role of coding in order to achieve error free
communication?




[image: image2.png]10.

11.

Gy A% 53@
il E N
3 7t

Specify the nyquist rate and nyquist interval for the
signal

g (t) = sin c? 200¢.

What are the ochservations that can be made from t]
diagram?

In what way coherent detectlon differs from noncol
detection?

Sketch the ASK and FSK Ol;ti)uts for the binary seq
110010.

PART B — (5 x 16 = 80 marks)

(a) Briefly explain the mathematical mode
communication channel with circuit schematic.

Or

()  Consider signal S,(t), S;(), S;t) and Sgft) s
in figure. Using the Gram Sc
orthogonalization procedure find an orthogonal
for this set of signal.
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Describe  various classification of enco
techniques for analog sources.

Or

(i) Explain the concept of spectral wave:
encoding.

(i) Compare the performance of various sp
encoding techniques.

The parity check bits of (8, 4) block code
generated by

Cs=di+dz+da
Ce=di+dz+ds
CT=di+ds+da
Cs = dz + dz + ds where di, dz, ds and d4 are
message bits.
(i) Find the generator matrix and the parity ¢
matrix for the code.
Gi) Find the minimum weight of their code
Gii) Find the error detecting capabilities of
code.
Or
Consider the convolutional encoder shown in fig

The message bits are shifted into the encoder
bits at a line.
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Draw the tree diagram that can be used
decoding .

How would you decode the message
111 101 001 000 100

Find the constraint length and rate effici
n of the code.

Explain the error ,probability of maxir
likelihood detector.

Write a note on figure of merit for di
detection.

Or

With schematic explain the process of sy
or timing synchronization.

Describe the role of adaptive equalising
to reduce inter symbo) interference.

Briefly explain the copstalation diagram anc
error probability for the following digital modul:

schemes !
@ QPSK
i) FSK.
Or
(i)  Explain coherent PSK receiver.

(1)

Compare different digital modulation sch
based on bandwidth SNR, error rate
complexity.





